MATHX.NET

Multiplying polynomials - Fractions - Simplify product of binomials and trinomials

Simplify product of fractionswith two variables:

1)( x+3y)(y +;x +1— xy)

3) (1ﬂa+ ng)( 42 + ab 3= b2)

7 4 5

1 3 2 1,
5) |4=x+2—y]|[8x* +2xy +2—
(s zppfor v2ragy)
7) 2m—1gn —n2+1zm2+3gmn

3 8 7

1 2 1,
9 [1—-x+3— X2 +2=xy + 2=
)( > 63/)( 3 y)

2

2 1 3 2
11) |7y +3=x|[1=x% + 2=xy - 3=V?
)(y 7)(4 4xy 3y)

13) 23\ re-13w
6 4 7
5

4 3\, .2 1,
15) | —x-1—-y||x* -1—xy+1—
) (7 5y)( 5xy y)

17) (23a+1 b)( a’ - —al b——bz)
4 5

2) (2n + ng)(an +2m? - ngn)

2 1 35 2 3,
4) [4—x+1-y|[4—x" +1=—xy——
T e

3 .3\.2, 1 1,
6) |- Xx+3-y|[1-x" -1 xy—-2_

)(4 4y)( 70 Y 2y)
8) 1%m-12n 4£m2+4§mn+51n2

7 7 8 8 4

10) [-v+ 312+ 1tw-11
4 5 5 2

4 4 6
12) [-2y +3=x||4x* - 1=xy - 2=Vy*
) ( y+37 )( =Y 7y)
5 1 1, 2,

14) |13—x—-— +1_x"-1—
)( 8 zy)(xy 2 3y)

16)( a-1— b)( L —1Zab+3§b2)
4 3 8 8

18) ( X+ 6y)( -3y* + 1%x2 + 1%xy)



1
19) 13m+32n|[Em2 + 11 + aln?
4 8 J\3 2 8
3 2
21) |m+ 110|212 - 20+ 202
2 5 4 3
6 3

23) (4%x - %y)(x2 - Exy + 43y2)

3 .1\.1, .3 6 ,
25) [42x-1=y|[15x% + 42xy - 12
)( 8 2y)( 2 5" 7y)

1
27) 62u—11v)( 1wz + 42w+ 112
8 2 \5 3 2

29) 11 13u|(62u2 + 120 + 4l
2 5\ 6 5 2
2 2 \[.2 1 2

31) [3=x+1-y|[1=x2 - 1=xy - 3=y?

) ( 5 5y)( 3 Fiad 3y)
1

33) (Ta+11 b 1207 - 33ap - 2p2
2 5 5 7

35) [2n+ 11m|(n2 + Cf.im2 +1im
2 8 7

37) ( X+1= y)( 2xy + 1§x2+%y2)

5 1\(.1, .1 7,
20) (1—x+—y|[2=x"-1—xy+1—
)(8 2y)(3 3xy Sy)
22) |[-2n+—m]{4n° +2mn+ 1—m
2 3
1.2 3.2
24) (x+3— + Xy + 2—X
)( Zy)(y Xy+2, )
26) [2—Xx—-—=y||2y" + X"+ 1—
)( 5 6y)( ar 8xy)
27 2773
1
30) (2a-=b ab+ 2182 + 41y
2 2 6
3 1 s T, 1
32) [1-x-1=-y|[-5y " +1—x"-2—
)( 5 5y)( A ny)
34) (6n + 31m)(—n2 -nm+ 3§m2)
2 4
4. _22)(,3,._2 1,
36) ([1-x-3=y|[1=-x"——xy—-1—
(12131

38) (32x+4 y)(lx -1— xy—gy)



1
39) 2 me1tnom? + Zmn -1t
2 2 2 6
41) 3ty Ev 1§u2 ETT Y.
6 4 4 3 7
1
43) |2v+=ul[-v? + ATy
7 8 4
45) a+13b 30244 ap- 232
2 4 2 7
47) 110 2tp|(-on? + 242 - §
7 3 7
1 1
49) m+35n Y E
6 \4 2 7
3 1, 1 S 5,
51) |2x+3—y|{1-x"—-1—-xy—-3—
) ( 4y)( 3 Y35y )
1
53) [-6n + 1 m)( 22 + atmn+ 2l
7 J\3 4 7
1

55) [4=u - 3Ly|(sv2 + 3§u2 - 3§uv
4 7 4 5

4 3 1 2
57) [1=x-1= —2 +4=
)( . 5y)( ) xy y)

40)( X+ 1— y)(llx +4 xy 46y)
1 111 1 5

42) [4=x-Zy||=x% + 1oxy - 2=y?

)( 2 3y)(5 Y y)

2 6
2 4,
44) |-y +4—-x][2-x
sl

1 2 , 1 1,
46) [2=x+12y|[2x® - =xy + 1=
)( 3 5y)( 4><y 4y)

1.3,
_1_ + —
o)

1\, 1, .1
48) |2x-2—y|[3y° +1—x"+1—
50) 1x+6y 2xy+43x 14y2
8 5
52) n+2%m 2n2+2m2+1mn
7 5 3
3 1)\, .2 3,
94) [8—X——y|{x"+1=xy+3—
)( p 4y)( = 4y)

5\(2, .2 4,
56 +1-X|[=x"+1-xy+2—
)(y 7 )(5 5 5y)

7\.5, 1 1,
98) [-7y+1—X|[1-x"+_xy—-—
)(y 8)(7 Y 7y)



59) a3u-12)|[1302 + 22w - 3Ly2
4 3\ 4 7 6

6 1 , .5 3,
6l) |3—x+—Vy|[8x“ +1—xy+2—
) ( - 5y)( 6xy 8y)

7\_1, 3,
63) [y +4—x|[5=x + 2xy - 2=
)(y 8)( 5 Xy Sy)

3\(.1, .5 1,
65) [y +3=x|[1=x% + 2=xy - 1=
)(y 8)( 3 6><y Zy)

1 5
67 Xx—1=y||2x% + 2=xy + 3=
) ( Sy)( 8xy Gy)

3 1
69) [2y+=x|[y* - 2xy + =x°
)(y 5)(3/ X+ )

71) 120+ 152202 - 120 + 132
8 3 3 5 4

1
73) TRy | FENE S
2 6 4 3 3

75) g1a-12p|(21a2 + 2240 - 12
2 3 )\ 4 6 2

5 32 2 1,
77 [1=x-33y|[32x2 - 15xy - 1=
)(6 y)(7 5><y 5y)

60) b+—al(b? +2a? +Zab
4 8 5
62) 1§a+1b -b? + 1 a2 - 11ab
5 6 7 4
64) —n+=m|[2m? + Lmn - 2302
4 4 5
66) [7m- 12n)(-2n2 + L2 - 22m
7 2 7
3 5 4, 3,
68) | —x+— +4—=x2 +=
[ ai2 )
70) (2x+1 y)( 3'x -3—= xy+3y)
1 .5\1, .1 2,
72) [=X=3=y|[-=x"-1-xy-1—
) (5 Gy)(4 4Xy 3y)

74) (22x+3 y)(4;x —Exy +2—- y)

2 1 5 1
76) [2=x-1=y||6X% + 1=xy + 1=Vy?
) ( 5 5y)( ny 4y)

78) 122 - 11p)(202 + 2ap - 212
5 2 37 7



5
79) (m-=n|[-2mn + 12w + 1102
7 5 2

1\,3, .2 1,
81) | X+—y||1—Xxc—2—xy—3—
)( 2y)( p 3xy Zy)

1 5 1, .1 2 ,
83) | Xx+2—y||2—x"+1_xy+1—-
) (2 Sy)( 3 2xy 3y)

1\.4, 2. 1,
87 +6-X||3=X"—1—xy+—
)(y 2)( 5 = Gy)

2 \[1 1
89) (4u+=v L1 3w+l
3 /\2 7 2
2 \[1 1 6
91) (8y+1=x|[=x*+3=xy+1—-y?
) ( y+1g )(6 Y 7y)

93) 32a-31p|(3a2 + 4200 + b2
7 37/\8 5 6

95) (ZEX - 3§y)(1x2 + 1xy + Ey2)

3 3 2 7

1 5\, ., 1
97) [2=x+12y|[2y? + 2x% + =

1 112, .1 1,
80) [2—x-1-y|[=x"+4—xy+—
o )

2
82) 12m+ 22n)(2m? - Zrm + 2102
3 5 3 8

5 5\, .3 2,
84) |[1—Xx—-2—Vy||x —3—xy—2—
)( 5 Sy)( 4><y 3y)

2
86) Zu-1i)|2z + 1t + 2302
3 6 3 4
11 , .3, .3
88) |1-x——y||-5y +3—x"+1—
)(3 zy)( e 5xy)

90) 22a+32p|[4322 + 3300+ 1102
6 7\ 4 5 2

11\/4 2 2
92 +1=x|[=x% + 1=xy + 1=V?
) (y 3 )(5 3'xy 3y)

2
94) (m+ 130|(1202 + 220 + 22
4 7 7 5

96) Em - En 2 m2 4 23+ 1302
7 8 4 5 5

1 1 3, .1,
9) (2 x+1_y|[-2xy+—x"+—
LEty S ey



1 1, .1 1,
99) [8x+1=y|[1=x® -3=xy+4=
) ( 7y)( - 5><y 7y)

4
103) [2=x+1-y|l12X% + 1=xy + 2~
) ( - 6y)( 6><y y

105) (1§a—3§b)( !
60 “5 )\“12°

3
11

2+ ab ——b2)

2 1
107) [6m-— 130|(2? - 2n + 12
4 J\5 5 4

1 .9 , 7
109 X—-1—vVy||-7y°- +4—
) ( 11 y)( Y

5

4 3 4 ,
111) [—x—-1—y]|6—Xx° —
e

12

37
7oxy +—
57" g

2
X2 = —xy

7

7

7\.1, 2 1,
113) |3y +6—x||3=x% + =xy + 1=
)(y 8)(2 3><y 3y)

115) [1—x+ 3— +—X
) ( 7 3y)(y

117) u + 53V 2uv +
4 11

7
+4-——
9 11Xy)
2
202322
3 7

]

4
100) (—=x+2=y|[2x% + 1=xy + 1=
) ( SY)( 3><y 3y)

9 1
102) 1§u + 2y (suv + 22 + 1102
8 10 6 2
2 2
104) 110 2y|(aw + 22 - 212
5 3 3 4

106)( X+ 6— y)(5ix —13xy+3 y)

5
108) 22a-3-"p|(13a2 + 2 ap + 2p7
6 12 )\"5 2 7

5 7\.2, 3 5,
110) [12x+2——y|[25x% + Zxy - —
)( 6 12y)( 5 "5 11y)

112) 6 m+ 12|22 - 22 + 202
12 12 /\8 11 3
111\, 1,

114) [3—x+1—y||X"+xy—-2—

) ( 127 12 y)( Vmegy )

116) u - 1v 6uv + lgu2 + 1v2
3 8 3 2

4 3\, 1 1,
118) |3—x-1>y|[2x* - 3Zxy + =
)( 11 5y)( 3" 3y)



119) 5ix-33 = 51y - —xy 3/ y? 120) 5-"a+52p|(2a? + 32ab - 1b?
2 12 8 12 8 /\3 5 6

1 11/5 4 4
121) [2a+ 30|12 + tap -3t b2 122) |=x+5=y|[=x* - 1=xy - 2—=y?
) ( )(3 2 ) : (3 4”)(6 5" 5y)
1 1
123) |x+Zy C’>£x2+Exy—1§y2 124) 52m+ on|(2me - 23 + 42p2
2 11 6 5 5 9 /\4 8 7
1 1\.1, .5 3,
125 x - 1=yl(2x? +1 1- 126) (1—m+4—n}|2—m" —=1—mn+2-n
)( y)( 37" y) )(8 2)(12 9 7)
1.1 7, 1, 36l )13 12042
127) |1—x—-2—=y||-Xxy + 3—Xx“ + 5— 128) |2—x+6—=Vy|[1=x"-1—xy—-2—
) ( 2 ey)( SR 4y) ) ( 8 9y)( g" 37 g5’
1 2 7
129) —Ox—liy C~’>1x2+—xy+§y2 130) 6-u+—v|[~v2 + 52w + 12
11 5 2 3 6 10 10 6
131) x+4£y 3 —lxy 34 y? 132) 1u+1iv 29 2yt +siy?
37 /A5 2 11 11 10 9 2
133) x ZEy 21 xy ely 134) 130+ 5p|(22a2 + 3 ap + 612
11 4 10 5 7 2 9 8
8 1)1, .5 .3, 1 3\1, 1 .1,
135) |1—x—— -1—xy+— 136) |6—X+5—y|[=Xx"+—xy—1—
) ( 9 3y)( 10 8xy 5y) ) ( 2 4y)(3 4Xy 8y

5,

4
137) LTa-1t b 5b? + 1-a® + 1= ab 138) 12m+ 3n|[2m? + 2 - 3702
8 8 3 12 9 8



1
139) 53x - =yl[2x* + 3§xy + 41y2 140) 32m-1-Ln|(2n2 + 32m2 + 3%mn
4" 3 6 8 3 11 7 3

7 1 1 1 10 5\(.1,
141) [=x+5-—y|[6x* + 6=xy - 2—V? 142) [—x+ R ENE
) (8 11y)( 2 12y) ) ( 11 8y)( 3 7Y Gy)
143) x+1 y 3l xy+4 y? 144) x 11 y xy+22x2+61y2
2% T 10 6 3 7
4 1 5
145) atys 3§y 1252 + 11xy +—y? 146) atu+ ty)(2? - 2w - 11
10 8°J\' 6 47 9 6 4 7 2
1 1 1 1
147) |=x+=y 61x2 - 11xy - Ziy2 148) 52+ iv|(a3e - 2+ 112
2° 2°)\"3 4 11 9 6/l 8 4 2
1 1
149) 32x+ 1ﬂy 1252 - 31xy - —y? 150) 110+ 2p|(-ab+ 5202 - 1p2
5 77\'5 77 2 2 6 7 2
151) (=a+62b|[5-2a2 + 4ab + b2 152) [53x+ 1L y|(2x¢ - 22y + 2y
12 8 11 3 6 8 8 775
153) [=x +2 oY 6-Lx2+ 11 A +22y? 154) (5->m-11->n)(32m2 - 20 + 1102
11 10 12 10 11 )\ 7 6 9
155) (1 Sm- 1n 2 me Z1tm- 1l 156) (1 e 1y ix 41xy - 11y2
7 3/\'3 3 8 20 2°\11 3 2

1 _,2\(2,._8 3 3 2\5, 2 2,
157) [1=x-1% ~Zxy+2— 158) [25x+—y|[2x? + 4Sxy + 12
) ( 6 5y)( 0" 1oy) ) ( 5 3y)(7 3" 9y)



159) (1x+1 y)(lx +2— xy+1 y)

161) (v + S%U)(—lov2 +u? - %uv)

163) 11 x+ 1iy 2x°
12 11 6

2 1
~b 1ﬂa2 +Zab+ 3§b2
3 7 4 6

5
165) (—a -
8

167) 2b+195)(aa2
11 )\ 10

5\(.2, _1 2
169) [3x+5>y|(15x% +5-xy — 1—
) ( 9y)( 3 ied 11y)

171) 1im- 1n 2 - 33mn - in2
6 3 2 11

1 1, -1,
173) |-y +1=x|[2xy + 4=x%® + 5=
)(y 6)(><y p 8y)

7 10 4
175 —X+5—vy|| x —3 1—
) ( P y)( xy 1

177) |2v+ 1>40)(3 2 + 5l + 1202
12 )\ 4 6 7

3§xy + 4§y2)

~1tap+ 22
4 9

)

1\(.4, .5 1,
160) [12x + 1=y|[6—=x? - 2=xy + 3=
) ( 3y)( c 6><y 2y)

2 4 2
162) |2x+ 1=y|[2x% = 3=xy + =y?
)( 3y)( 5xy By)

2
164) 120152 - 18w -122
5 2 \3 11 5

2 11 2
166) [=x+—=y|[4—= —1 3=
)( y)( 12 xy y)

1
168) |2m+ 6n|(-n + Lm2 - 1-Crm
5 3 10

1.1 5, .1,
170) |1—Xx+1—Vy||-xy+1—x° +3—
)( 7 sy)( i sy)
1 9 3 4
172) [5=x+—vy|[5x% - 3=xy - 3—V?
) (5359 [59 - 35 -32v)

4 2 7 5 1
174) |-y +3—=x||2y" +2—X" +5—
 [reager e v sg

176) 1u Y 1gu2 + 5EUV _122
2 6 9 11 9

2 3, 4 7,
178) [55x+=y|[3-2x? - Zxy - —
)( 5 y)( 10" 57 1oy)



179) 53a-23p|(11a2
4 g8 /\'8

3

1
181) (§x+3gy)(3—x - —xy 6 y

+ L ah-12p2
12 5

10 12

10

2 4 2
183) |[4=x + 1—y||9x -—
) ( 3 gy)( xy y

5

1\(5, .5 6
185) [12x-Zy|[52x% + 1—xy + 2=
)( 6 5y)( 6 1177 7y)

187) (11y + gx)( 8y? + 4ix +2— 1 xy)

10

2 2 1 1
195) |3=x-1-y|[1=x%+ -=
)( 3 y)( p 8xy y

7 s 5 1
197) |[=x-2— +x2-11=
) ( lzy)(y 8xy)

)

)

)

3 1\/[2 2
180) |[=x-1= —1 2=
) ( 2y)(5 xy 3y)

182) 12a- 1 p|[ata? - 12ap - 1102
6 8 3 8 6
11/1
184) 11m-Ln|Eme + 1t + 5102
5 2 J\5 3 12
2 1

5 1 1
186) |-—m+ 1=n|{4=m* + =mn - 2=n?
12 3 3 5 4

=32y

4,5 7,
9" 9 8

3 1
188) (4=x+1=y|[5—=
[
5 1 , 3 2,
190) (6=x - 1=y|[10x* - =xy + 5=
)( 3 4y)( = By)
5 4 1 5,

192) |1—x + 2x% - =xy - 3=
(e e -3 -oe]
194) 12 a-12p|(-2ab+ 5382 + 1-L12

10 4 5 12
196) 21a+23p|(-2ab + 6202 + 1102
2 5 5 2
1 4
198)( X = 3= y)(3 2——xy+—y2)

2 9

-10-



199) 3im+2-tn|(-sn2 + 5 m2 + 61
6 10 10 4
2 4 1 5
201) [1=5x——y|[-2xy + 1=x® + 1=y?
) ( 3 7”)( VIR T )

202) (1im+78n)(1 207
2 16 |\" 13

1\/9 2 5
203) |20x+ =y|[—x® - 1—=xy + 10=y?
) ( 2y)(19 llxy 6y )

1\[, 5 1
205) [~y +4=x|[8—2x? -
(e - )

14 1 1
207) 120+ )22+ 82+ 3ty
7 15 14 2

8, 4
209) 11—3a + 43b —a’-—ab+ 93b2
15 14 \9~ 5 3

211) 13a+13p|1-La2+12 ab+8 b2
8 17\ 118

213) 8 m—11n|(-2mn + lmz +5ip2
9 3 13 2

1 1 9
215) [2y +=x|[1= 7 +6—
)(y 4)( 5 xy 10y)

+ limn + 10£n2
15 13

1\.3, .5
200) [-2y +=x|[12x% + 2—xy - 1=
)( y 2)(5 2><y y

0 .1\t 19 ,
204 +17y](8=x? + Sxy + 9=
)( 197 3y)( 12 Xy 2oy)

1, 33.\(15,2, 5
206) [1=x+3= Xy - —
) ( 9 y)( 16 1oxy 11y)

1 2
208) 12 0+ 720|120 + Ly + 212
10 19 5 5 5
210) (2x+ 1— 9y)( y? = 2xy + 6%x2)

3 ,010)(,6 9
212) [1=x+9—y|[22x% + 2xy + —
)( 11" 13y)( 7 Xy y)

2 2 \[4 , 13 ,
214 X+ 8— X +1O +2—
) ( 3y)(5 xy 17y)

11 1
216) [—m-=n|[1 2 s 2+ 1302
16 2 9 10 15

-11-



217) 7Zx + 51y 1 >
8 2 8

6
—u

223) [u-12v|(20
3 13

5 7

2
225) |-a-1—b LI e
8 10 J\"15 15 5

227) 3§x—11y 7x°
13 3

229) 3im+9£n 1
17 17

—X

2

7 3 17 6
+ Ul +—uv 222) | 7T—x+9=y|[-y? +9—x® + 5—
6 ) ) ( 12 7y)( y 18 7xy)
9
+ 1EUV + 1lv2 224) 51—3x + 11y 1—3x2 + 1§Xy - —y?
13 13 18 7 16 5 14
7 14 \[13 7
226) |-—a-—b||—a®+ 8- ab + 1?2
10 19 J\19 11 10

9 2 6 1 1
2 218) |7T—x-=y|[1=x® + 1=xy - 1=V?
) 13 3y 7 2xy 2 y

10 1 \.1, .6 2,
220) |7—=x-2—y||1=x2 + 22xy + =
)( 11 2oy)( 3 7Y 5y)

15
oY

1 7 3 4
-xy-1 228) |—x+3—y|[2x* - =xy +—Vy*
ST )(10 18y)( 5 13y)

)

=m’+ 1Emn + 7in2
10 19 12

5 , .6 1, 9 1 , 5 , .6

230) [3x+10—y|[2x* + 1—xy-1— 231) [1—x+—y|2y* + —x* +1—
) ( 16y)( 11”7 14y) ) ( 14 15y)( T 117
232) 5£x+9£y Exz—lxy—lly2 233) 21m+§n Emz—lmn—gnz

18 12°\7° 16 9 5 7 \17 17 8

3 11 3, 5, 1 1 , 3, 5

234) |-——x-1=—y||-4xy + 4—x* + — 235) [1=x+10=y|(9y® + 5—x* - =
)(16 12y)( ST 18y) )( 3 9y)( ST I

-12-



236) 1020 - 230|122 + 6302 + 730
3 2 8 5

238) 9iu -1t st
17 16 2

18

10

1 2\.1, .8 6 ,
240) [5=x+8Zy|[3—x? - 1=xy+ 1=

242) 1§x—Ey 21
7 16 15

2
244) 61x—1§y =x?
3 9°/\3

9

1 1
2 2

i+ 22
R AR

7 .1 17 7
246) (1—x+=y||-19xy + —x* - 1—y?
) ( 8 4y)( ST Sy)

9

1 5 7
248) [x+ 1=y|[1—x? + 10=xy + 1—V?
) ( 6y)( 17 6xy 13y )

250) (4 x+3y|[at
147 4\ "12

252) 3§x+ 1£y 2
8 137 /\13

254 (12 %+ 73y |(L
157 9°J\19

8 7
32 =y = \2
9Xy 11y

1 1
X2 — Sy + =2
3Xy 4y

2 1 1 2
X5 —-—— _ |_

11 .5 2., .4,
237) [ox+ 12y -xy + 65x% + 1=
(150 1o -3y

13

239) (Za + 6—b)(—5b2 + 9%&12 + 1§ab)

241) (

243) (%m - BSn)(

245) (

1 1
249) |3—x+3—vVyl||1
) ( 4 9y)(

251) (

255) (

- 13-

14

2 1
lﬂa + 1§b 15b% + —a? — =ab
9 4 7 3

1

8£m +3—n
12

16

2 7

12u-3 |1

11 12

12 17

1
ZEa + Eb)(—a

2

§u2 + 7iuv + lﬂv2

8

5
—mn + 1gm2 + —n2)

I

1.\(1 1 6
247) |5y +4=x||=x® + 6=xy + 9—V°
)( y 7)(5 Y y)

16

2

12
-n® +==m* + gmn)

13

13

9

—x*—1—xy+9
10 Y

14

11

16

17

12

|



1 2
256) (14 2x+9-2y|[ - + 2xy + 12y 257) (Sa+6 Lo)[-07 + 517 +a 2
9 187 /\11 3 2 2 16

3.5 4, 11 8 11 3., 2 1,
258) (3 —x+_— +—x*+2— 259) (10—x——y|[1—x® +4=xy + 4=
) ( 16" 16 )(y 9 1sxy) ) ( 11 12y)( 20 3 2y)

260) n+im 10— ! m? 713mn ZEn
13 12 14 17

261) 3m+2-Ln|(adme + 1-Ln - 3202 262) 93y +7 2y 103052 - 3ixy + 4§y2
4 12 ]\ 5 18 5 15 7 187 " 18 6
10 4 3 1, 1 3 1. 3
263) (1—x—— +6—xy—— 264) [21x+ 6> y|(61xe + 11wy - 13
) ( 17 5y)( 167 9y) ) ( 2 1oy)( 3 207" 8y)
1 5 1, 3 3\, 10 1,
265 X—1— +3—xy+— 266) (—u+—Vv|fu"——uv+7—v
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31 8 1 27 20
518) [40=—x+35—y|[6—x% + 38xy - 1=
)( 54 31y)( 64 67" 31y)

51 25
519) [—u+ 28iv 1£u2 +—uv — 1152
61 22 11 96 89

27 29 \(:31,, 16 .33,
83

520) [12—x+29— X
)( 68 Y 82 63)(y 40y

14 1 35
521) (39=—u+31—v 122 + 2y + 1422
75 63 /\"16 74 15

38 37 27 2 5
522) (1-—x+49—y|(19—x" + 5 +29—
Je e e

4
523) 122 a+ 3b 3B 1%+ L2 524) %, -—vy|(16xy + 1332 4 1@y2
89 550 o4 31 97" 37 97 67
525) 191a + 333b 8a’ + 241ab - 1§b2 526) 12+ 9ly —2y? + T4xy + 13x2
4 22 2 6 11 24 13

27 \(7 18 7
527) 1 e+ 2| (L2 - 130 + 4420 528) 162 x - 1@y —x* - 13xy——y2
™ e s™ ' 27 26~ “73°)\23 38 43

529) m+ 11En 17mn + 1288m 17n
4 52 93 21

1 1 ) 37
530) [27-—-x+10-=y|(71x 1— +1°
) ( 39 7oy)( 7 38y)
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44 3 \123,0_
531) [29=x - 1-—y|(152x% - ==xy + 25=
) ( 53 5oy)( 81 3l o y)

6 37 4 , 4
532) |—x+19—vy||1—x“ + 27—xy + 47—
) (47 38y)( 21 64Xy y

2 21 10 \(1
533) 1@x+—0y 94y2+45§x2—11xy 534) 2L 0N, 180y + a0td 2
60 39 94 6 68 17 )\43" 62 45
3 59 ,
535) §x+ 1£y 38x° +1 xy+ 19£y 536) 9§u—— 4936 2 1z uv +—v?2
75 19 11 81 4 37 93 99
30 35 1, 12 85 ,
537) |1—x+ —y|[15—x* + —xy + 20—
) ( 89 97 y)( 767 197 94y)
4 1 11
538) 13— A p)(2aap + 13 a2 + 2222 539) x+343 ,Y 11 -—xy+3 12y2
12° 41 21 69 2 15 67

1 5 \14.2_17 34,
540) |=x+ 23— 21" xy+ 37—
) ( 69y)( 197 43y)

541) 15" a+492p|(242242 + 25 ab + 31 b2
11 66 67

542) £m+12in 3im 316mn 17£n
25 12 84 23 29

9 31 \(.1, .31 31,
543) [192x+27—y|(15x3 - 1= xy - —
)( 32 36y)( 2 a7 35y)
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7 8 57 , .45 29 ,
544) [47—x - 1—y|[502=x% + 13—xy - 1=
)( 46 15y)( 62 61" 38y)

9 47 39 ,
545) (—m=-—n 1802 4 Gan -—n? 546) 13 x4 177—3y 21xy + 2282 1gy2
49 64 85 53 84 90 9

11,13 68 , 1 71
547) [14=—=x-1="y||44—x? - —xy + 11—
) ( 60 35y)( 60 3" 79y)

45 79

548) [1—x + 18—y 13052 4 38! 6 2
67 84

+38—xy—-1—
70 89)(y 31 Y

549) 1390 1110|3382 + 26 By + 121212
37 14 69" 44 13

39 45 , .5 19 ,
550) [4—x+—y|[27x® + 1-—xy + 14—
) ( 82 ezy)( 29" 78y)
551) 1§u ra 'ty 29 u® + 243uv + 11§v
88 9 \" 46" 58 42

37 \gallo 70 2,
552) [4y +41°>5x — 1y + 145
) ( Y s )( 60 79" 59y)

553) 11a + lb -3%9ab + 1= 39 a’+ 1Zb2 554) 3x 15y 33x° 413—xy + iy
2 17 44 8 11° 29 88 83
11 5 1,
555) |11—a+1—bl[1=a ab -~ —b2 556) |—x ——=vy|[20x? - 94xy + 6—
) (gger e g gr-gylleort-sewe )
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15 6
557) (41 e a6 m + S+ 65002
2 4 40 47 88

7 B g1 41 ,
558) (—x+21-y||21—x? - 1-—xy + 37—
) (13 2y)( g4 51 98y)
24 1
559) 23 m - 1802 - 12+ D
45 35 \20" 53 23

24 43 \[1, 38 23
560) (43X - — + 48— xy + 36
) ( 53 59y)(9 65 g5’ )

1 24 , .33, 2 45 10 , 1, 45
561) [1=x+21°"y|(78y? +2=ox? - = 562) [46——x - —yl|(71y? + =x* - 1>
) ( 4 31y)( Y s 3xy) )( 67 13\ T3 83"

32 16 19 5, 5 81 13 ,
563) [—=x - —y|[11=ox2 + 36——xy - 1=
) ( 37" 17y)( 33" 100" 14y)

564) FEEN 401—3 1220 u® + 1§uv 1232
81 19 75" 54 49

69 1 (529,24 4049 2,
565) [—x +23= +49 7 xy — 15
) (88 sy)( 42" 54" 3y)

+20—uv—-—v

92
566) (-96v + 26—ul(461u2 + 207 2
o5 )\ "0 76 o7

2 47 2,119 5 , 47
567) [275x + 29— y|(-32y? + 1-ox? + 46—
) ( 3 86 y)( Yy 54xy)
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1
568) (—a + 232p|(-28ab + 1222 - 1112
10 32 27 2

5 \(.72, .26 10,
560) -48y +30- x| 10 + 23—
)( Y 18)(79 37 11y)

570) 1L a+12p)(a72202 - Pap 4 31 32
12 19 45 83 38

27 44 V(16 >, 1
571) [33—x+48—y||6— 9 16—
) ( 31 45y)( 53¢ Vg 51y)
7 1
572) [—m-=n 262 m2 —1%m 4512
39 5 34 31 12

13 . 19\(38 . ,.59 21
573) |[ox-1— +A3 Xy + 8
) ( 23 47y)(39 o™ 52y)

23
574) 4Bm4 451n 88n° + 212+ Zm
52 2 13 89

19 10 35 e
575) |1—x+ 52— 50 + 44—
) ( 60 33y)( 46 Xy y)
24 1 \[3 17 1 19 12 43 11
576) |1—x—-—Vy|[=x®+42—xy - =Vy? 577 16— + 7—=y|[-36xy + —x% - —y?
) ( 67 76y)(4 40Xy sy) ) ( 83y)( a4 54 24y
578) 4224+ 137|293 02 + By + 16202
88 54 14 81 68
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3 2 , .5 25
579) [1-x+44-=y|(27x% + 12xy + 39
) ( 16 63y)( 6" 51y)

49 22\ 81, ,12 5
580) (1—x - 1=
) ( 95 49y)( 89" Xy 67y)

581) 1720 - 32| (1L + a7 v+ 1202
2 6 J\" 15 44 14

4 3
582) 111x——y lslxz——xy 13y 583) 308+ 79p (102252 - 1 1 ab 1231b2
100 25 200 5 41 64
23 29 \(,16 2, ,5 1,
584) (39="x + 45— y|[1==x* + 1 >xy + 42—
)( 24 98y)( R 9y)

585) (1—3 -39— b)( 03 2 1113ab —bz)
31 64" 61

586) 1 m- 11—8 - 2222mn+En
9 25 25 91 93

587) (12 x+ 232 y|(3022
53

9,,,1, .1
93

1yt
63" 110V ggY

> >3 )( M 2y 14§y2)

588) [29—x+ 33>y
38 900’ )\"33" 25 99

61
589) (7 20 - 1-"n|68n? + 2 + 42-Lrm
59 59 77 10
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7 19 8L 5, 4373 15
590) [—x - 3==y|[19==x2 + 43—y + 16—
) (33 79y)( 01" 04" 26y)

1 11 \[ 4 16 7
591) [10—x + 11—vy|[—x? 6— ——y?
)( 74 39y)(11 Xy zsy)

58,1 1.2, 67 5 7.2,
592 26— 593) [13—x - —vy|[40—x® + +=
) ( T 2y)( 24 4sxy 3oy) ) ( 87 18y)( 34 1sxy y)
9 46 20 3
594) s7u+ 2122|1102 - 2oy - 22 595) 2x+25ﬂy 182 X2 = xy - —Vy*
25 J\"2° 95 49 94 86 41 79
506) 172+ 34 22v|( 12202 + 36—y + 33212
9 86 J\" 75 12 42
1 2 62 2, 1301502
597) [=x+12=—y|(10— 41— +—
: ( 80y)( 65 35 y)
5 27 , 3 64
508) (45— + 122b)(90b2 + 2a2 + 23-—ab 599) 1iy X=Xy ——V?
24 65 17 31 Ter\3s" 77 65

17
600) [—a+ 34 b B2y 32 ab + 49512
37 70° 4

- 40-



MATHX.NET

Multiplying polynomials - Fractions - Simplify product of binomials and trinomials

Simplify product of fractionswith two variables:

2o deent

5 , 1, 37, 3, 1, 5
— XY+ X+ —XYy+— 4 3-nm* +_—n"m+5_—m
16Xy 4 48 y 8y
4 3 4 2 1 2 3, .2

3) [1=a+2=b a®+—=ab-3=b? 4) [4=x+1=y|[4=x2 + 15xy — =V

)(7 )(5 5 4) )(3 y)(4 3Xy 7y

1 9
2233+ 5 op -4t g2 gy 22 x3+14§x2y+—xy2——y3
35 140 140 16 2 14
1 3 , 1, 3 2, .1 1,
5) |[4=x+2>vy|[8x% + 2xy + 2= 6) |=x+32y|[1=x2 -1=xy-2=
) ( 3 8y)( Xy 8y) ) (4 y)( - Y25y
2 . 2, 23 3 27 39 1 3
34=x3 + 27=x2 +13 +5— X+ 30Xy - 7=xy? —9=yB
3 3 y Xy 64y 28 y 2Xy 8y

7) [2m- 1gn -n? + 1Zm2 + 3gmn
3 8 7

—7Emn + 33 3+ BEmZn + lgn3
21 4 56 3

1

9) |1—Xx+3— X2 +25xy + 2=

)( > 6y)( 3xy y)
3 19 , 11 ,

—x*+4—x° +12— +7
10 30 / xy 12y

2 1 3 2
11) |7y +3=x|[1=x% + 2=xy - 3=V?
) ( y - )( p 4xy 3y)
1, _17, 2 5 3
17— yx* +7—yxX=25—y  +4—X
1 T e 3Y T8

13) 23\ re-13w
6 4 7

8) 1%m-12n|(atme + 43m+ 512
7 7 8 8 4

7 1
73 3+ limzn +2-mn®-9n°
56 56

3
10) [-v+=u 12z e1tyo1te
4 5 5 2

—gvu2 - 21—3v2u + lév3 + 1lu3
10 40 2 20

4 4 6
12) |-2y +3—=x|[4x® - 1—=xy - 2—V?
)( Y 7)( 5 7”)

14
—14§yx2 _ 678

2
y2X + 5§y3 +14=x3
7 245 7 7

5 1 1, .2,
14) |13—x—-— +1_x"-1—
)( 8 zy)(xy 2 3y)

3 5
32002 44203 -6 B 2y + 202 szzy +5-150 - 61—3xy2 +=y°
21 6 84 4 8 16 24 6
4 3\, .2 1, 1,7 5,
15 [=x—-1-y|Ix*—-1-—xy+1— 16 a-1-b - 1—ab + 3—b
)(7 5”)( 5" sy) )(4 )( 3
4
o020, 2102 0 (2 SN < TGP UL JNPRE: )
7 5 175 25 672 224 56
2 1 1 6
17) 2§a + 1§b “a’- —ab - —b2 18) x toy -3y? + S 11xy
4 5 3 7
2 45 1
11 a3 -2 2 - 2 ab? - —b3 —xy? +=x3 + l§x2y - Zﬁy3
10 40 196 3 7 7



1
19) 13m+32n|[Em2 + 11 + aln?
4 8 J\3 2 8
3

.
—m° + BEmzn + lsﬁmn2 + 174—3n
12 32 64

1 1\, 1 2 ,
23) |4 x-1_y|[xX ——xy+4—
) ( 5 Zy)( 6><y 3y)

1 1 1
4=x3 - 2=y + 21=xy* - 7y°
5 Y el =1y

3 1\.1, 3 6
25) |[4—x-1—Vy|[1l—Xx"+4—xy—-1—
) ( 8 y)( 2° 7Y 7y)
9 7 1 11
6—x° +17—x°y - 15—xy? + 2—°
16 8 y 40Xy 14y

1
27) 62u—11v)( 1wz + 42w+ 112
8 2 \5 3 2

17 1
1£u +28—u’v + Ziuv2 -2=8
16 4

1 4 1
29) (1=u+ 130)(62u2 + 120y + 4 1v2
2 5\ 6 5 2

19 ,

10l 34+13— 3
4 30

v+ 98 w27y
100 5

2 2 2 1 2
31) [3Ex+12y|[15x% - 1=xy — 3=y?
)( 5 5y)( 3 xy y)

3
2 11 , 13 2
5=x% - 1—x%y - 14 -5
3 12 <y Xy 15y

33) (2a+1 b)( é 2-3= ab——bz)

T tap-aBa - B
5 70 49

35) 2n+1+m n2+31m2+11mn
2 8 7

on® + 72 +3ll 2m + 42

28 14 16

2 2 3 2

37) x+1 y 2xy+1§x +Zy

5 , 54 s 27 4
1 —Xy+—X" —2xy" +—
24 Y 9 Y 32y

5 1\.1, .1 7,
20) [12x+Zy|[2=x% - 1=xy + 1=
)( 8 zy)( 3 3" sy)

19 , 2 73 2, 15 4
3—X = XYy+2—
24 y 192)(y y

1
22) |-2n+=m|[4n? + 2mn + 11m2
2 3
2 2
-8n® - 2n’m-1=-nm? + -m®
3 3

24) x+31y y2+xy+2§x2
2 4
1 > 5.2 3 3. ,123
4—xy® +10—Xy+2—X" + 3
2xy 8 y 4 2y

20) |2—Xx——Vy||2y  +—Xx"+1—
)( 5 6y)(y 4 8xy)

e28 2, 7 5,55 14
S50 T 10% TSV Y

1 1 1, 1 1,
28) [4—x+2-y|[1-x"+—xy+—
ez o)

3 17 2 13
6-—x3+5—x%y + 2— +—
10 20 Y xy y

30) (Za - lb)(—ab AL 41b2)
2 2 6

—31a2b +5a° + 8§ab2 —~ Zib?’
4 6 12

3 .1 , T, 1
32) [1-x-1=-y|[-5y " +1—x"-2—
) ( 5 5y)( T8 ny)
—5xy? + 3x° - Gixzy +6y°
34) (6n + S%m)(—n2 -nm+ 3%m2)

1 1
-6n° — 95n2m +19nm? + 13§m3

36) (14x 32y)( 3 2—gxy—llyz)

5 3 5 3 4
22 7

23 - T—XPy + —xy? + 4—y°
25 / 36xy 12y
5 3\1, .2 3,

38) (3 x+4—y|[x" —1_xy—-—
) ( 6 5y)(2 3xy 4y)

110 a4ty - 101—3xy2 ~3 23

12 45 24 20



39) (2%m+ 1%n)(2mz+%mn—1%n2) 40)( X+ 1= y)(llx e 2~ 4= y)

6
5m® + 45mPn - 25mn? - 1518 X3 + 5£x2y ﬁxy - Ey3
4 6 4 40 180 24
3 11/1
41) 3ty 3y 1§u2 ETT Y. 42) PEN =y|[=x% + 11xy - 2§y2
6 4 4 3 7 2 3°/\5 2 6
1 77 41 9 41 1 17
B s ey rsHpe 120 —x3+6—x%y —13=xy?* + —V?
24 144 42 28 10 60 4 18
1 7 3 2 4 1 3
43) (2v+Zuf(—vZ + 1-u® +=uv 44) -y +4=x|[2=x* - 1=xy +=y°
)( 7)( 8 4) )(y 3)(7 2Xy 8y
15 3
43l 1 2veu e 2 —9ﬁyx2 + 31y2x -=y3+12¢3
7 56 7 4 8
1 2 1 1
45) (2a+ 13b)( j Z+4-= ab 23b2) 46) (2?( + 1—y)(2x2 A 1—y2)
7
L a® +52a%h + 6L ab? - 412 PEN P X2y + 2—xy +13y3
8 16 56 4 3 60 30 4
1 1 5 3 1 1 1
47) [1=a-2=b|(-20% + 2—— 48) [2x - 2=y|(3y* +1=x* + 1=
) ( 7 3 )( 7° ) ) ( Zy)( R ried
40
D+ B o2y 4 42 szy2 +3x° - 1£x2y - 7£y3
28 49 21 3 8 4 2
1 1 1 6 1 6 4
49) m+35n ~m? +4=mn - —n? 50) (=x+—y 2xy+43x —1—y?
6 /\4 2 7 3 7 8 5
1
e 1Y mn+ 173 m2 - 320 3ix2y APELNC 2£xy2 - 11—9y3
24 24 28 7 12 24 35 35
3\L1, .1 5, 6 \., 2, 1
51) (2x+3—y|[1—x"-1—xy—-3— 52) |-n+2-m|[2n“ + —m" + —mn
) ( 4y)( 3 2xy Gy) ) ( 7 )( 5 3
58
2258 4 2x%y — lslxy2 - 14§y3 o+ 2 i 455 ?m e 1 1
3 24 8 105 21 7
1 1
53) (-6n+ 12m)( 2 + 42 + 4102 54) 8 x - 2V x> + 1gxy + 3§y2
7 J\3 4 7 4 4
8 15
282 - 20 Pn2m - 24803 + Sy 85 + 128 y+ 323—xy -y
7 98 7 21 4 16
2
55) atu-3ty|(s + 3§u2 - 3§uv 56) |y + 124|(2x2 + 1gxy + Zﬂy2
4 7 4 5 7 ]\5 5 5
24
3272 02 + 151208 - 27212y - 15207 Zﬂyxz + 61y2x + 2ﬂy3 +—x3
140 16 35 7 5 5 5 35
4 3\1 7\.5, 1 1,
57) |11-x-1— —2 +4— 58) |-7y+1—X||1-x"+—xy——
)(7 5y)(6 Pl y) )(y 8)(7 Y 7Y
5., 67 127 , _1., 3

101 3
1ox3 - 6— X2y + 11 xy? - 7= “11S 3 - 2P YR+ 3
6 210 Ky 2107 '8 8yx l68y Y



1
59) a3u-12)|[1302 + 22w - 3Ly2 60) (b+=-a b2 + a2 + ab
4 3\ 4 7 6 4 8

27 9 5
8210+ 9L 2y _ 192 2 4523 b® + —ba? + —b%a+—a>
16 42 168 18 40 20 32
1 1 1
61) 3§x +=vy[8x% + 1§xy + 2§y2 62) 1§a + 2p)(-p2 + 242 - 11ap
7 5 6 8 5 6 7 4
47 44 19 7 8 41 1
3005 + 8—x°y + 9—3xy2 +—y° ST LIVIC I R e LT
7 70 840 40 120 35 42 6
7\.1, 3, 3 , 1 3,
63 +4—X||5=X" +2xy - 2— 64) |-6n+—m||2m° +—mn - 2—-n
)(y 8)(2 Y sy) )( 4)( 2" s
151yx2 - 9£y2x - 2§y3 + 2653 1B —3 2 Pmr155n + 110
4 64 8 16 16 20 5 2
3\.1, .5 1, 5 , 1., .2
65 +3=X||1=x"+2—xy-1— 66) | /m—-1—-n|{-2n° +—m" - 2—mn
)(y 8)(3 6" 2y) )( 7)( 2" %7
104—3yx2 = S 1£y3 ralye 2102 2+ 35me - 169m2n + 3308
48 48 2 2 49 2 7 7
5 3
67) x 11y 2X° + 2= xy+35y2 68) x+ = xy+44x += y
5 8 6 5
1 69 11 3 45 4 223 15
17)(3 _ o _ w2 4= 3 37)(2 +1— 3 2 3
2 160 y 40Xy 5y 56 y* 5 224xy y
3 1 4 1 3
69) (Zy + gx)(y2 - 2xy + —x2) 70) (2x + 1—y)(1§x2 - 3—xy + —y2)
2 1 1 37
2y° - 3=y?x - +-—x> 3=x*-3—x’y-4 v10
4 5y yx 10 5 100 Y- 8xy 20y
1 1
71) 12u+1Ly 21u2 1 132 72) |=x- 3§y =x? - 11xy - 1gy2
8 3 3 5 4 5 67 /\4 4 3
67 71 1
300+ O oy L2y ols L2 — X%y + 4£xy2 = 6ly3
24 360 160 3 20 24 24 18
1 3
73) TRy | FENE S 74) 22y+3t y 4ty X2 —=xy + 21y2
2 6 4 3 3 5 8 5 7
PEAT NIV LU I 13530 4 13§x2y + 4£xy2 + 6§y3
8 24 18 18 20 25 25 7
1
75) 81a- 13b 21a2 4 22an - —b2 76) 22— 11y 6x° + 1§xy + 11y2
2 3 4 6 5 5 6 4
4
19143 + 2014 - 8 ab2 O 14253 - Zﬂxzy +—xy? - 1£y3
8 3 6 5 5 5 2
2 4
77) 12x - 3§y 3352 - 13xy - 11y2 78) 12a-12b|[2a2 + Zab - 202
6 8 7 5 5 5 2 3 7
6
62x° - 14£x2y + 2éxy2 + 4iy3 333 - 142 - 2 L ap? + Op?

7 210 40 20 5 5 35 7



5
79) (m-=n|[-2mn + 12w + 1102
7 5 2

2 4 13 1
3=m’n+1-m° +2=—mn? - 1-—n?
7 5 14 14

1\,3, .2 1,
81) | X+—y||1—Xxc—2—xy—3—
)( 2y)( p 3xy 2y)

33 .19, S o, .3 3
1-X" -1 —XxXy-4—-xy - 1—
4 24 y 6Xy 4y

12 2 5
83) [=x+2= +1 +1=
)( 8y)( 3 xy 3y)

1éx3+67xy +4— xy v43 y?

8
1 1\/3
85) [1=x+1=y|l=x?
3 8°/\8
13 E 2 19 > S 3

—XT+1—XYy+6 Xy  +4—
2 448 y 252xy 16y

6 5,
+—xy + 3—
7xy 6)’)

1\.4, 2. 1,
87 +6-X||3=X"—1—xy+—
) (y 5 )( 5 = Gy)

—S5—yx* - —yXx+ +24—x3
1ny 60y 6’

6 10
2 \[1
89) (4u+=v|[=u?
3 /\2

8 1 1
2u° - 5—Uulv+1—uv? + =3
21 21 3

1
- 1§uv + V2
7 2

2 \/1 1 6
91) 8y +1=x|[=x® +3=xy+1—V?
) ( y+1g )(6 Y 7y)
1 5 2 5 65,93
7—yX*+ 31—y x+ 14—y  +—X
6yx 21y 7y 18

93) (3‘;’a 3t b)(: 2+4§ab+§b2)

ga?’ + 13—
7 140

1 11/1 1 2
9B) [2=x-3=y||=x® + =xy +=y?
) ( 3 3y)(3 Y y)

9 18 2y - Xy’ y

117 a’b - llfab2 2;b3

97) (Z%X + 1%y)(2y2 +2x% + 1xy)

59 2,415, ,123 5 43
4 +4=x3 +3"x%y+ 32
72070 T T YT y

2
82) 12m+ 22n)(2m? - Zrm + 2102
3 5 3 8
1 1 27
3=m® + 3—3m2n + ZEmn2 +4=n3
3 45 40
5 .5\, .3 2,
84) [1—x—-2—Vy|[x*—3—xy—-2—
) ( 5 By)( Y23y )

S 3 o1l 2715 , 3
1-X" -9 Xy+4_—xy" +7
6 2 y 288Xy y

1 1
86) Zu-1i|(2uz + 1t + 2302
3 6 3 4
5
11u3 - 1ﬂu2v +—uv? - 3£V3
3 18 24

11 , .3, .3
88) [1—x——Vy||-Bby" +3—x“"+1—
)( 3 zy)( YTy sxy)

7 5 3, 31 , 1,
—[—Xy +5X" +—Xy+2—
15xy 120 y 2y

3

90) (42a +3= b)(44a2 + 3§ab + 11b2)

8

23 as a’b+20 7ab2+5 b3
140

24

22—a’ + 35i
70

11\/4 2 2
92 +1=x|[=x% + 1=xy + 1=V?
) (y 3 )(5 3xy 3y)

1 2,.,80. 23,1 3

3—yx“+3_yx+1_y +1—X

45yx 9y 3y 15
2

94) (m+ 130|(1202 + 220 + 22
4 7 7 5

1
1gm3 + 3§m2n + 33mn2 +-n°
7 28 35 2

6 3
96) |=m--—n 2 m2 4 23+ 1302
7 8 4 5 5
1B o, 481 5 150, 27

1 m-n + mn< ——n
14 1120 280 40

1

1 1 3, 1,

9) (2 x+1_y|[-2xy+—x"+—
)( 3 3y)( Xy c 7y)
13 2 1 4
32Xy + 15X - 2= xy? +—°
15775 3xy 217



99) (8x + 11y)(11x2 - 31xy + 41y2)
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